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 BBYET-143  

BACHELOR OF SCIENCE  

(UGC) (CBCS)  

Term-End Examination 

December, 2022 

BBYET-143 : ECONOMIC BOTANY AND 

BIOTECHNOLOGY 

Time : 2 hours Maximum Marks : 50 

Note : Question no. 1 is compulsory. Marks are indicated 

against each question. Attempt any four questions 

from questions no. 2 to 8.  

 

1. (a) Write botanical names of the following 

plants :  41=4 

(i) Wheat  

(ii) Soybean  

(iii) Tea 

(iv) Coconut 

(b) Fill in the blanks : 41=4 

(i) Majority of the legumes belong to the 

family ________.  

(ii) Chillies are a good source of ________. 

(iii) The term ‘biotechnology’ was coined 

by ________ ________.  

(iv) ________, an antibiotic was discovered 

by Alexander Fleming in 1929. 
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(c) Write the full form of the following 

abbreviations :   21=2 

(i) RAPD 

(ii) LEA 

2. (a) Discuss the health benefits of legumes.  5 

(b) Name any four crops of legumes in India. 

Describe any one of them with reference to 

its morphology and uses.  1+2+2 

3. Write the botanical names of any four medicinal 

plants. Describe the chemical composition and 

uses of any one.   4+3+3=10 

4. Describe the steps involved in the preparation of 

black tea.  10 

5. Discuss the major practical applications of plant 

biotechnology.  10 

6. Explain various steps involved in molecular 

cloning with the help of proper labelled diagram.  10 

7. Explain CRISPR-Cas9 technology. Enumerate its 

working and applications.  10 
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8. Write short notes on any four of the  

following : 42
2

1
=10 

(a) Totipotency  

(b) Flavr Savr tomato  

(c) Genomic Library  

(d) Properties of an ideal vector  

(e) Northern blotting technique  
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 ~r.~r.dmB©.B©.Q>r.-143  

{dkmZ ñZmVH$  
(`y.Or.gr.) (gr.~r.gr.Eg.) 

gÌm§V narjm 

{Xgå~a,  2022 

~r.~r.dmB©.B©.Q>r.-143 : Am{W©H$ dZñn{V {dkmZ  
Am¡a O¡dàm¡Úmo{JH$s 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

ZmoQ> :  àíZ g§. 1 A{Zdm`© h¡ & àË`oH$ àíZ Ho$ gm_Zo A§H$ {XE JE  
h¢ & àíZ g§. 2 go 8 _| go {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE &    

 

1. (H$) {ZåZ{b{IV nmXnm| Ho$ dmZñn{VH$ Zm_ {b{IE :  41=4 

(i) Johÿ± 

(ii) gmo`m~rZ 

(iii) Mm` 

(iv) Zm[a`b  

(I) [aº$ ñWmZm| H$mo ^[aE :  41=4 

(i) A{YH$m§e qe~ _______ Hw$b Ho$ gXñ` h¢ & 

(ii) {_M] _______ H$m AÀN>m òmoV h¢ & 

(iii) eãX ‘O¡dàm¡Úmo{JH$s’ _______ Ûmam {X`m 
J`m Wm & 

(iv) EopÝQ>~m`mo{Q>H$ _______ H$s ImoO 1929 _| 
E{bŠO¡ÝS>a âboq_J Ho$ Ûmam H$s JB© Wr &  
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(J) {ZåZ{b{IV g§{jßV Zm_m| Ho$ nyU© ê$n {b{IE : 21=2 

(i) Ama.E.nr.S>r. 

(ii) Eb.B©.E. 

2. (H$) qe~m| Ho$ ñdmñÏ` na bm^m| H$s MMm© H$s{OE &  5 

(I) ^maV H$s {H$Ýht Mma qe~ \$gbm| Ho$ Zm_ {b{IE & 

CZ_| go {H$gr EH$ CgH$s AmH$m[aH$s Am¡a Cn`moJm| Ho$ 

g§X^© _| dU©Z H$s{OE &  1+2+2 

3. {H$Ýht Mma Am¡fYr` nmXnm| Ho$ dmZñn{VH$ Zm_m| H$mo  

{b{IE & BZ_| go {H$gr EH$ Ho$ amgm`{ZH$ g§`moOZ Am¡a 

Cn`moJm| H$m dU©Z H$s{OE &  4+3+3=10 

4. ãb¡H$ Q>r H$mo {Z{_©V H$aZo _| em{_b MaUm| H$m dU©Z 

H$s{OE &  10 

5. nmXn O¡dàm¡Úmo{JH$s Ho$ _w»` ì`mdhm[aH$ AZwà`moJm| H$s 

{ddoMZm H$s{OE &  10 

6. AmpÊdH$ ŠbmoqZJ _| gpå_{bV {d{^Þ MaUm| H$mo C{MV 

gwZm_m§{H$V {MÌ H$s ghm`Vm go g_PmBE &  10 

7. CRISPR-Cas9 ({H«$ñna H¡$g9) VH$ZrH$ H$mo  

g_PmBE & BgH$s H$m`©àUmbr Am¡a AZwà`moJm| H$mo ~VmBE & 10 
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8. {ZåZ{b{IV _| go {H$Ýht Mma na g§{já {Q>ßn{U`m±  

{b{IE :  42
2

1
=10 

(H$) nyU©eº$Vm  

(I) âboda gmda (Flavr Savr) Q>_mQ>a  

(J) OrZmo{_H$ bmB~«oar  

(K) EH$ AmXe© doŠQ>a Ho$ JwU  

(L>) Zm°XZ© ãbm°qQ>J VH$ZrH$  


